Service Bulletin

T™ 1078-30

GROB
G 115

LUFT- UND RAUMFAHRT

Subject: Inspection or modification of elevator and elevator trim control system

Concerned: G 115/ G 115A/ G 115B, all S/N's

Urgency: Action A, B., C. at the next annual inspection,

not later than 31 December 1993

Action D.. optional

Procedure: On aircraft, which are permanently exposed to agressive climatic conditions (i.e.
sea area), and have not been adequately maintained, corrosion has been detected
on elevator levers and at the elevator trim control system in the area of the
horizontal tail. An inspection for corrosion, and, if corrosion is determined, an
exchange of the concemned parts for parts made from non-corrosive material is
mandatory as a precautionary measure.

Actions: A. All parts of the elevator trim control system in the horizontal tail area

must be inspected visually for corrosion.

Corroded parts must be exchanged (refer to sketch).

Note: The stud bolt plate {21), covered with laminate, must not be ex-
changed necessarily. It is permissible to remove corrosion from
stud bolts and protect stud bolts with corrosion protective
(e.g. LPS 3). 194

- ‘\,,, “
=4
ltem Name P/IN Item Name P/N
1 |Trimlever mounting | 4454997 12 |Nut LN 9348-M5
bracket 2
2 Trimrod 6 115-4446 13 |Washer LN 9025-5,3
3 |Trimrod7 115-4447 14  [Ball boit A8 SxN 03/2
4 Trim lever 4 115-4301 15 {Locking spring |AS8-SF
5 Trim lever 5 115-4303 16 |{Nut LN 9348-M4
6 |Nut LN 9348-M5 17 |Washer LN 0025-4,3
7 Washer DIN 9021-5,3 18 |Screw LN 9037-M4x18
8 |Screw LN 9037-M5x20 | 19 |Bracket R/H 115-3576
9 |Washer LN 9025-6,4 20  |Bracket L/H 115-3575
10  |Nut LN 9348-M8 21 |Studboltplate |115-3553
11 Screw LN 9037-M6x40
Datum/ Date Ersetzt Ausgabe/ Issue Edition Bearbeitel/ Prepared by Mustergepriift/ Approved by Seite/ Page
13.08.93 R. Vodermeier 1 0f3



%B-

GROB
G 115

Service Bulletin
™™ 1078-30

LUFT- UND RAUMFAHRT

B. The inspection or the exchange of the elevator mounting (lever L/H P/N
115-3573 and lever R/H P/N 115-3572) must be performed as follows:
. Remove rudder, according to MM Chapter 27-20-30
. Remove elevator, according to MM Chapter 27-30
. Check L/H and R/H lever through the hole for internal corrosion (refer to
sketch)

e

—

. If corrosion is detected, the elevator mounting (lever L/H P/N 115-3573 and

lever R/H P/N 115-3572) must be exchanged.
For exchange, the elevator must be sent to the manufacturer.

Note:  [f the extent of corrosion can not be determined exactly, the
elevator may be sent to the manufacturer for inspection.
. If the corrossion is only surface corrosion (very thick film of rust), the

corrosion must be removed as far as possible and the lever protected
internally using a proper corrosion protective (e.g. LPS 3), to restrict further
corrosion.

The rate of corrosion must then be checked periodically (minimum every 100
hours or during each annual inspection). If the aircraft is exposed to extreme
weather conditions, (e.g. high humidity, high temperatures, sea climate) the
inspection interval must be shorter.

. Weigh elevator and determine residual momentums, according to MM

Chapter 06.

. Install elevator, according to MM Chapter 27-30.

Note:  The installation of an auxiliary hinge ring is recommended for an
easier assembly (refer to IM 115-19). A 6 mm longer hinge bolt

must be used! (refer to sketch)

c{,*‘\\fég ) ttem Name PIN
P
1 3/‘;24 1 |Hinge 115-1140 view (A
2 |spiral pin DIN 7344 2x10 T
3 |Auxiliary hinge ring | 109B-1125 i }/2
) S 1
4 |Hinge bolt DIN 1434 6F-34 L
R G
5  |Hinge bolt DIN 1434 6F-46 L’ Vol
3
Datum/ Date Ersetzt Ausgabe/ Issue Edition Bearbeitet/ Prepared by Mustergepriift/ Approved by Seite/ Page
13.08.93 R. Vodermeier 2 of3



/ Service Bulletin GROB
$HoB ™™ 1078-30 G 115

LUFT- UND RAUMFAHRT

C. Check trim rod 3 for corrosion.
If corrosion is detected, trim rod 3 must be exchanged according to MM
Chapter 27-40.

b Trim rod 3

\\\.\ .

D. Installation of an additional elevator hinge.
To prevent delamination of the outboard elevator hinge, an additional
elevator hinge can be optionally installed according to Installation Instructions

No. 1078-30.

&N Final worksteps:

1. Install rudder, according to MM Chapter 27-20-30.

2. Check adjustment of elevator, elevator trim and rudder control systems,
according to MM Chapter 06.

3. Perform functional test of elevator, elevator trim and rudder control systems.

Material: The material can be obtained from GROB.

Weight and Empty weight and empty weight ¢.g. must be determined newly after performing
Balance: action B. and D.

Remarks: 1. The exchange of the elevator mounting (lever L/H P/N 115-3573 and lever R/H

P/N 115-3572) can only be performed by GROB or in arrangement with GROB.
For this the elevators must be sent to GROB.

2. If you have sold your aircraft in the meantime, would you kindly pass this
information on to the new owner and forward his name and address and
aircraft S/N to us.

Matisies, 13 August 1993 LBA approved:

This Service Bulletin is originally written in German and
approved by the German LBA on the 14 October 1993,

- g n

) / The translation has been accomplished to the best of
w}gw PN our knowledge und judgement. In case of doubt, the

| German original is authoritative.

Dipl.Ing. J. Altmann
(Airworthiness engineer

certification staff)

Datum/ Date Ersetzt Ausgabe/ Issue Edition Bearbeitet/ Prepared by Mustergeprtft/ Approved by Seite/ Page
13.08.93 R. Vodermeier 3 of3



ng

und Vorrichtu
Mefizeug

nd

Anderuggen an

M = Modell und Rohteil
W = Werkzeu

L. = Lehre u

- 102-149
/ interne ANDERUNGSMITTEILUNG o
—GROB- -
INTERNAL CHANGE NOTE 105-75
LUFT- UND RAUMFAHRT 115-19
GERAT-NR. PROJEKT-NR. | DRINGLICHKEIT .
BLATT/SHEET 1

AIRCRAFT TYPE PROJECT-NO. URGENCY

Gililtig ab Werk-Nr.

Valid as of S/N VON/FROM 2

Diese Interne Anderungsmitteilung ersetzt die Interne Anderungsmitteilung vom 22.04.92.
This Internal Change Note supersedes the Internal Change Note, dated 22.04.92.

AUSWIRKUNG -

ge oder angef, Telle
N = nacharbelten

usable A = aufbrauchen
V = verschrotten

PARTS  Ferl
rework

scrap

ere vorherige
okument weder

Ohne uns

Alle Rechte _vorbehalten.
firmenfremden Dritten zuganglich

in sonstiger Weise verwertet werden.

schriftiiche Zusti
schriftiiche 2 timmung' darf dieses D
ht, nocg

gemac!

y, confi-
Tosses, or
such infor-

rofits,

or to the identit
OND“RADMFARKT Goon & Boo e

n which concerns or relates to trade secrets,
income

e oftwgrk or appagatus,
v source of an
LUFT-

amoun

,  styl

BURKHART GROB

Gegenstand:
Subject:

Betroffen:
Concerned:

Vorgang:

Procedure:

Mafnahmen:

Actions:

Material:

Hinwelis:

Remarks:

Lagerung der Steuerfliachen
Mounting of Control Surfaces

G 102, G 103, G 103SL, G 104, G 109, G 115 alle Baureihen/ alle WerkNr.
G 102, G 103, G 103SL, G 104, G 109, G 115 all series/ all S/N's

Um bei Reparaturen an Ruderlagem bzw. Rudern eine leichtere Montage der
Ruder zu erméglichen, ist es zuldssig, den Lagerhilfsring 108B-1125 in
Verbindung mit dem Spiralspannstift DIN 7343-2x10 zu verwenden.

For easier mounting of control surfaces after repair of hinges or
control surfaces, it is permitted to use an auxiliary hinge ring P/N
109B-1125 in combination with spiral pin P/N DIN 7343-2x10.

Die Montage hat je nach Lagerart gem&R Prinzipzeichnung (Prinzip
entspricht G 109B ab WerkNr. 6500) zu erfolgen. Es ist in jedem Fall ein
entsprechend léngerer (6 mm) Lagerbolzen DIN 1434-6F zu verwenden.
The installation must be performed, depending on hinge type,
according to the diagrammatic sketch (shown is design of G 109B, as
of S/N 6500). A longer (6 mm) hinge bolt DIN 1434-6F must be used.

- Lagerhilfsring 109B-1125 (1)

- Auxiliary hinge ring P/N109B-1125 (1)
- Spannstift DIN 7343-2x10 (2)

- Spiral pin P/N DIN 7343-2x10 (2)

- 6 mm langerer Lagerbolzen DIN 1434-6F

- 6 mm longer hinge bolt DIN 1434-6F

Die durch diese IM betroffenen Zeichnungen werden nicht ge&ndert, da es
sich nur um eine Reparaturmafnahme und nicht um eine generelle Anderung

handelt.
The drawings concerned by this Internal Change Note will not be

revised due to the fact that this modification is only a repair measure,
not a general modification.

(]

1993

NAME VERTEILER
1] HAME DISTRIBUTION

BEARBEITEDVON |11 . 1. 93 Vd@é}hﬁei%r

PREPARED BY

GEPRUFT VON 11.10

CHECKED BY

.99 7. Altmagh

enditures of

3

This document contains informatio

operations
dential sfatgstica1 data

processes

ex

ma

STATIK VON
STATIC BY




1gt,
sti-

unsare vorherige schriftliche
umaenl weder vervislfill,

daglich gamacht, noch In son
2.

Zustimmung darf disses Dok

Alls Rachls vorbahallan. Ohne
firmenframdsn Dritlen ru,

gor Weisa varwerlel war

Ela# 2 bou Z

A v
T "9}
I =3
z _LDQ_
‘@J.S
S}

giltig ab Werk.- Nr.: 6500

LA ~ Bewrarimagen '
8 Stk
Baneneng Saca-Nr. "“ (aerecired)
Nr. zond

16 ST/FLGZ.

s

T 1ag Mome Workstorf Oberfidchenzestond Obarrichenscixeiz
13.72] [k 1,541 W —

Benennwrgy

LAGERHILF SRING 2:1

l

7 OROB |~ 109B-1125

TFE s e

Eryarz i

!
- | BHoIT-A4 S A%
|

Zust)  Mittedmg |

Erveest carch

@ TRILLLTL] - pourprscre aur SiRBIBET CRovpa-swwcx  Nr 2612/27 glatt  PGH 1389




